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NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deletingloverwriting is not allowed. Do not use lead pencil.

Q.1

Circle the correct option i.e. A/ B C [ D. Each part carries one mark.
(i) The origin of all social sciences is.

A Civies B. individual C. law D.  Family
(i}  The Foundation of Pakistan is:

A Wealth B.  Poliical system C. lIslam D.  Localism
(i)  Plato had fixed the number of people for an ideal state to:

A 4040 B. 5040 C. 6040 D. 7040
(v)  Dictator is the word of language.

A, Persian B.  English C.  Urdu D.  Latin
(v} How many kinds of citizens are there in Islamic State?

A Two B.  Three C.  Four D.  Five
(v  Whatis the basic unit of Society?

A Individual B. Nation C. Family D.  School
(vii)  Who runs the business of Government in democratic countries?

A Legislature B. Citizens

C.  Local Government D.  Politicians

(vii)  Which is the element of Nationality? |
A, Common Music B.  Common Habits m
C.  Common Religion 0.  Common Bysifes? @@
(i) Which country is the largest population wise {mithe w O
A China B cidae @m D.  Pakistan |
! C.

(x)  Towhichco

\

America D.  Spain

B State C.  Liberty D. Ciy
is the first and oldest human institution.
A, Individual B. Family C.  Legislature D.  School
(xii) ~ Government comprises of the institutions.
A Five B. Four C.  Three D. Two

(v) Taximposed on Non-Muslims in an Istamic State is called:
A Incometax B Jizia{~) C Propertytax D.  Salestax

(xv)  According to 1973 Constitution, what is the lower age limit of a candidate for National Assembly in
Pakistan?
A 20years B.  25years C.  30years D 35years
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